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&G A72 FR=R|AY (ctel: &
= ZH o|(= S AL . I =] OH MEE = o}
[Egs= 563,737 541,937 21,800
FOIHAHEO T2 (LS ZHY/UBEH) 322,080 309,980 12,100

A2 FO=SJAAS 100,000 130,000 A 30,000
A2 FO=SRAAMNS 100,000 130,000 A 30,000
401 Al &BIZ20HYI 100,000 130,000 230,000
01 Al&H| 100,000 130,000 A 30,000

OALntl FL=JAAS 100,000,000& 100,000
FoOES et HEMHIA 222,080 179,980 42,100
=S 28t HEMHIA 222,080 179,980 42,100
203 YRFL&Y| 3,500 3,000 500
03 AIMFAAHR =LY 3,500 3,000 500
OMsSUHaS EAIH =& 3,500, 000& 3,500
301 getEazg 171,580 169,980 1,600
05 E-c2l-CtEEsE43 158,880 158,880 0
Ool&E=¢ 150,880
—Jl2=< 200,000 46 H =12 110,400
—&03 200, 0003 *46H x23] 18,400
— 3|9 &M E 20,0003 46 +23| * 12 22,080
OBt &=l 50,000& *160Y 8,000
10 SAAHIEAS 11,200 9,600 1,600
OFUXXAAn=EA 7,000 x200E 13| 1,400
OS301oly SHAIEA AlHI 24
7,000 x200E 13| 1,400
OSE FQAMEY U DREA
7,000 *400E 33| 8,400
12 JIEIEAZ 1,500 1,500 0
Okb=Xt & AR =4l 30,000& x50H 1,500
307 glzZtold 8,000 7,000 1,000
04 QIZHAIE X 8,000 7,000 1,000
OZHsUs sdds & LA A
3,500,000 3,500
OsHNsUHs sdds & LA A
4,500,000& 4,500
401 A &HIZ204YI 15,000 0 15,000
01 Al&HI 15,000 0 15,000
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OZYTE & HTAL &I
10,000,000& » 14! 10,000
O34 &I 2124 (200m) 5,000,000& =14 5,000
405 XH&HESH| 24,000 0 24,000
01 XA ESEH=HI 24,000 0 24,000
OME H &I 2 4,000,000 «6CH 24,000
HY2HZHI(ELS)(IIEH/IIEH 241,657 231,957 9,700
ol 2y 11,960 1,360 600
A2 A 11,960 11,360 600
203 HRF&H 11,960 11,360 600
01 JI22dIRFL& 6,600 6,000 600
Oos% 6,600,000& 6,600
00 HElMAREZY| 1,160 1,160 0
OZ A RF &I 40,0003 29 1,160
M4 SASYYLERY| 4,200 4,200 0
OFRANSEYRFEHI 350,000& 123 4,200
Jl=2& 4l 229,697 220,597 9,100
Jl=&ddl 229,697 220,597 9,100
201 B2 I 145,597 144,037 1,560
01 AtR2&cldl 62,758 68,838 6,080
ORKHEH 1,150,002 29% 33,350
oY &=yl
10,0002 1.3 * 1462 +50,0002 1.3 x250
= 18,148
O=gHl 4,060
—S2014ly| 7,000& x29% 20! 4,060
OS A Xt 7,200
—UBEE A (X-21201 &)
120,000 +2CH =123 2,880
— D= AR (X-36001 &)
180,000 «2CHx 12 4,320
02 223244l 82,839 75,199 7,640
ORER= 6,700
— YRS 415,000& 123 4,980
—NENM=SEZE 520 1,720 *1,000A 1,720
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M HHE2AZHI(ELS)(OIEHIIE)
e =3l &)
SN I SRI(S) - NRAY - B sk e 2t
OJIEtEER= 60,916
—&JIe3 14,700
- A 1,125,000& 123 13,500
oA 100,000& «12& 1,200
—dot=ER3 960
et 50,000& =12 600
ot=% 30,000& x12& 360
—Sd LS| 5,000 *3CH* 123 180
—SHNERES 267
ANE2 83,000& *23] 166
N 16,830& *3CH*23] 101
— A= 44,809
2 44,809
HAIE A 1,300 *41.6 £ 100 *BAl 2+ 43,264
=4 1,3003 %4.95 £ 30 *8Al 2¢ 1,545
Oxtgs A2l 11,000
—SE(FLYR) 3,600,000 = 1CH 3,600
—AEIE(ER) 3,000, 0002 = 1CH 3,000
— &h> XH(20,000kmO| &) 3,000, 000& = 1CH 3,000
—BES (MY L 2EEH0])
350,000 »4CH 1,400
OXt S XAl 223
—S5E 131,000& *1CH 131
—3= 45,6003 *2CH 92
OFALH IR X2t 4,000
—ANEEHIRAS=H A (2al)
4,000, 0003 1Al 4,000
202 O4Hl 84,100 76,560 7,540
01 3L 84,100 76,560 7,540
O2&W A bl 200, 000& »29H 12 69,600
O&2l0tl 50,000 x29E 10! 14,500




